THR2EREREMNM ET/KEEERRTEALGR

(&8 Fik)

A4 B B |SFSE3H2380CK) FRI1085305 ¥ 7E fi4& 49,798,000
Af FEE |BEZFE11065 FEE M 44,093,527H
T $E _% %*E%E%ﬁéﬁ%F;Iflf%tﬁﬁﬁ—Eﬁibiﬁtih\ﬁﬁ7}<%¥ﬁﬁ§1$ AL _ i#[,gﬁ _ =
I E 5 (BRNTIREEFHAEHAZL, £1E g20E % 3[m
I %75 |K&E 1| HRBEER (%) 51,300,000 50,200,000 49,700,000
T DIn(OX) G200 L= 6804m 2| FEEERER (B0 50,300,000]  49,800,000| 49,000,000 %L
T = & |#KSHE 0100 26/ 3| B HEER (k%) 50,900,000 50,200,000/ 49,600,000
PKERE ©50 1677
BKEYET 28/ A(B)KEEIX 51,360,000 50,150,000 49,600,000
THELNE | FTFKESKERIHR 5|t R B ER (kK) 51,400,000 50,200,000 49,700,000
2 A& |fEEHEANLBEALLGEERAE) 6| (#R) AR iR
B & & #H 2480563 ME20%E) 7| TRRERR (KR 51,600,000 50,200,000 49,700,000
= BN ES T EEEEREREEHE OKERE 8| RIREER (¥F) 50,750,000 50,200,000 49,600,000
AR o @nmam o|REIRE T (k) 51,500,000(  50,180,000] 49,700,000
(2D NE] 101 BF 2 &% (¥K) 50,900,000 50,200,000 49,700,000
D DAT % FEESEKAE 11| R () 51,200,000 50,200,000 E3EFHE
EFRENTIRIBEE—THEIFI0S 12| () KEL 22— 51,200,000 50,170,000 H3EHE
2HEAAR FERZEFA) TIH 13| (A) EREE 51,100,000 50,100,000 49,600,000
" R3.3.30 14|(BA)EREE 51,850,000 50,100,000 49,600,000
= e R3.3.29 539000001 Rz 10,13 15| (¥) U b ILER itk S 51,980,000 50,180,000 49,555,000
F1RZER R3.10.12 2,196,700 16| (%) BHAKET ¥ 50,750,000 50,100,000 49,600,000
B BRI B UM K AR B A B L s, i || 17| R DA 51,700000]  50,150,000] 49,600,000
THEHEH KIETEEMLI-CE RUTURI KBS AL | | 18 (#%)RVhD 51,500,000 50,215,000 H3EIE
=554, 19| (%) ALK 51,950,000 50,100,000 49,650,000
F2RER 20( /KR R (#%) R
21| (BR) KRTE 42— 51,800,000 50,080,000 49,590,000
T EHEMH 22| (#%) ¥R %R R
23| (Bk) 7 — LR &t ss 52,000,000 50,250,000 49,600,000
FEIEEE 24| (B) 72+~ R
25
T EEH 26
27
TREDFEEEE (FiA) 56,096,700 28
29
30

) AFLERICHZEED10%(AHE T S EBEMBL-E BN ERZ LD AMBLLYES .




